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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER - 111 « EXAMINATION - SUMMER-2014

Subject Code:3330605

Subject Name: Surveying.
Time: 02:30 PM TO 05:00 PM
Total Marks: 70
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Give the list of instruments use in chain and tape survey.
Write R.F. of 1c.m. = 2.5 Km. scale.
Define surveying.

Explain F.B. and B.B.

List instruments use in plane table survey.
Define levelling.

Write use of contour.

Explain closing error.

List types of B.M.

List types of Level.

Explain principles of surveying.
OR
Give difference between plane and Geodetic Surveying.
List types of scales. Explain any one in detail.
OR
Explain Representative fraction.
Explain Chaining on sloping ground.
OR
Explain Key plan and location sketch of survey station.
List methods of computation of area by taking offsets. Explain any one.
OR
Explain types of offsets.

Draw sketch of prismatic compass and show its parts.
OR
Explain closed and open traverse.
Explain isogonic and agonic lines.
OR
Explain W.C.B. and Q.B.
Give difference between prismatic and surveyor’s compass.

OR
Explain types of Meridian in detail.
Explain Magnetic declination.
OR
The fore bearing of closed traverse PQRS are as under. Calculate interior
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angles and apply check.

Line F.B.

PQ 40°

QR 80°

RS 220°

SP 260°

Define Line of collimation , Reduce level and Back sight.

OR
Give difference between Internal and External focusing telescope.
Explain temporary adjustment of level.
OR
Draw sketch of Dumpy level and show its parts.
Following reading were taken with level.

1.155, 1.565, 2.695, 3.580, 2.085, 2.895, 4.125.Level was shifted after fourth
reading. Calculate R.L. all points by H.I method. Apply check. R.L. of B.M. is

50.0M.

List methods of Plane tabling. Explain any one in detail.
Explain parts of Global positioning system with sketch.
Explain Errors in Plane tabling.

Write uses of Global positioning system.
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